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Q.1 The following are the conditions for selecting Marketing Manager for a PSU.

The candidate must: 
a) Had done MBA in Marketing with at least 65% marks. 
b) Not be more than 28 years old and less than 24 years old as on 1.12.2021.
c) Have fluency in English. 
d) Be in a position to pay Rs. 1,00,000/- as deposit to the company. 
e) have an experience of at least 3 years. 
In the case of candidate who fulfils all the conditions 
except I) at (a) above, he should be referred to Managing Director of the company. 
II) At (d) and/or (e) above, he should be referred to Chairman of the company. 
Now read the information provided in the question and mark your answer accordingly. 
Utkarsh who was born at 1-04-1995 is a Post-Graduate (MBA) in Marketing with 70%
marks. He is not fluent in English. He has a work experience of 4 years. He can pay the
required deposit.

Ans A. The candidate is selected.

B. The candidate is not selected.



C. The candidate is referred to Managing Director.

D. The candidate is referred to 

chairman.

Question ID : 9277593823

Q.2 Among seven persons P, Q, R, S, T, U and V, who are of different ages, V is younger
than only S and T. U is younger to Q and older than P. T is not the eldest and R is the
youngest. Who is the fourth oldest?

Ans A. U

B. Q

C. S

D. R

Question ID : 9277593822
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Q.3 In a circular seating arrangement, Sunil is facing outside. Esha is sitting 2nd to the
right of Sunil and opposite to Farhan. Omkar and Vikram are immediate neighbours. If
six peoples are sitting in the arrangement then, what is the position of Jitin with
respect to Farhan, who is facing inside?

Ans A. Immediate right

B. 2nd to the right

C. 2nd to the left

D. Immediate left

Question ID : 9277593829

Q.4 In the question one statement is given, followed by two conclusions, I and II. You have
to consider the statement to be true even if it seems to be at variance from commonly
known facts. You have to decide which of the given conclusions, if any, follows from
the given statement.

Statement:
T ≤ M = R > K > O; U ≥ O
Conclusions:
I. R > U
II. R > T

Ans A. None follows

B. Either conclusion I or II follow

C. Only conclusion I follows

D. Only conclusion II follows

Question ID : 9277593821
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Q.5 If a mirror is placed on the line AB, then which of the answer figures is the correct
mirror image of the given figure?

Ans

A. 

B. 

C. 

D. 

Question ID : 9277593833
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Q.6 Out of the given options, three are similar in a certain manner. However, one option is
NOT like the other three. Select the option which is different from the rest.

Ans

A. 

B. 

C. 

D. 

Question ID : 9277593832

Q.7 How many pairs of letters are there in the word "PRESIDENT" that have the same
number of letters between them in the word in forwarding directions, as they have in
the English alphabetical series?

Ans A. Four

B. Two

C. One

D. Three

Question ID : 9277593827
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Q.8 Find the missing number in the given series:

8, 129, 210, 259, 284, ____, 294
Ans A. 291

B. 290

C. 292

D. 293

Question ID : 9277593825

Q.9 Read the following information to answer the given question. Following are the criteria
for selecting Mathematics teacher by a school. The candidate:

1. Must have done post graduation in Mathematics with at least 70% marks. 
2. Should have good aptitude skills with fluency in English.
3. Must be between 23 to 27 years of age.
4. Must have at least 2 years of related work experience.
In the case of Candidate who fulfils all conditions except- 
(a) At (1) above, but has at least 4 years of experience in Mathematics, his/her case to
be referred to HOD.
(b) At (4) above , but has done post graduation in Mathematics with at least 80%
marks, his/her case to be referred to Principal. 

In question below, details of a candidate are provided followed by a question and 4
courses of action. Select the course of action that applies to the person's candidature.

Anu has done post graduation in mathematics. She scored 65% marks in her post
graduation. She has strong aptitude skills with fluency in English. She is 25 years old.
She has only one year of work experience.

Ans A. She will be selected.



B. She will not be selected.



C. She will be referred to HOD.



D. She will be referred to Principal.

Question ID : 9277593824

Q.10 The following question is based on the five three-digit numbers given below. 
295 567 876 456 345 
If in each number second and third digits are interchanged, then how many even
numbers are there?

Ans A. 1

B. 3

C. 2

D. 4

Question ID : 9277593826

Q.11 Out of the given options, three are similar in a certain manner. However, one option is
NOT like the other three. Select the option which is different from the rest.

Ans A. NASA

B. ISRO

C. WHO

D. JAXA

Question ID : 9277593818
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Q.12 Find the wrong term in the given series.

AC, BE, EI, JO, QV
Ans A. EI

B. JO

C. QV

D. BE

Question ID : 9277593820

Q.13 A's sister is the wife of B. B is C's brother. B's father is D. E is B's paternal
grandmother. F is E's daughter-in-law. G is C's brother's son. How is G related to A?

Ans A. Son

B. Sister's son

C. Father

D. Brother

Question ID : 9277593828

Q.14 Out of the given options, three are similar in a certain manner. However, one option is
NOT like the other three. Select the option which is different from the rest.

Ans A. 64 - 81

B. 36 - 49

C. 49 - 81

D. 16 - 25

Question ID : 9277593817

Q.15 Select the option that is related to the third term on the same basis as the second term
is related to the first term.

56 : 67 :: 42 : ?
Ans A. 76

B. 48

C. 60

D. 47

Question ID : 9277593816
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Q.16 A cube is made by folding the given sheet. In the cube so formed, which of the
following pairs of symbols will be on opposite sides? 

Ans A. % and $

B. # and *

C. @ and %

D. & and $

Question ID : 9277593835

Q.17 In the following Venn Diagram, the triangle represents 'lawyers', the circle represents
'Indians', the square represents 'Doctors' and the rectangle represents 'teachers'.
Which letter or set of letters represents the teachers who are neither Indians nor
lawyers?

Ans A. C

B. A

C. E and F

D. I

Question ID : 9277593834
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Q.18 From the given answer figures, select the one in which the question figure is
hidden/embedded.

Ans

A. 

B. 

C. 

D. 

Question ID : 9277593831

Q.19 Complete the following letter series:

JKS, EPN, ZUI, ___
Ans A. UAD

B. UZC

C. UZD

D. VZD

Question ID : 9277593819
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Q.20 Pipe A can fill a tank in 15 minutes and pipe B can empty the same full tank in 6
minutes. If three-fifth of the tank is full and both the pipes are opened simultaneously,
then in how many minutes will the tank be completely filled or emptied?

Ans A. Empty in 15 minutes

B. Empty in 6 minutes

C. Fill in 6 minutes

D. Empty in 9 minutes

Question ID : 9277593830

Q.1 Who is the author of the book "It's a wonderful life: Roads to happiness"?
Ans A. Sidney Sheldon

B. Bill Gates

C. Ruskin Bond

D. Umberto Eco

Question ID : 9277593854

Q.2 हाल ही में इस वर्ष 21 जून 2021 को अंतर्राष्ट्री य योग दिवस मनाया गया, इसका विषय क्या था?
Ans A. स्वास्थ्य के  लिए योग

B. कल्याण के  लिए योग

C. शांति के  लिए योग

D. जलवायु कार्रवाई

Question ID : 9277593837

Q.3 Ranji Trophy is related to which sports?
Ans A. Kabbadi

B. Cricket

C. Chess

D. Volleyball

Question ID : 9277593842

Q.4 From the following options which day is celebrated on July 1st every year?
Ans A. Labour Day

B. World Civil Defence Day

C. National Chartered Accountant Day

D. World Milk Day

Question ID : 9277593836

Section : General Awareness
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Q.5 Twelve members are nominated in the Rajya Sabha by whom?
Ans A. Prime Minister

B. Speaker of the Lok Sabha

C. President

D. Union Minister

Question ID : 9277593840

Q.6 पंचवर्षीय योजना को अब नई _______ वर्ष की कार्य योजना से बदल दिया गया है।
Ans A. एक

B. दो

C. तीन

D. दस

Question ID : 9277593848

Q.7 किस प्रकार के  दू ध में अधिक पोषण होता है?
Ans A. पाश्चुरीकृ त दू ध

B. कच्चा दू ध

C. उबला हुआ दू ध

D. ठं डा दू ध

Question ID : 9277593849

Q.8 Anguttara Nikaya related to:
Ans A. Hinduism

B. Christianity

C. Jainism

D. Buddhist

Question ID : 9277593839

Q.9 Pablo Picasso was one of the greatest artists of the ___________________.
Ans A. 21st Century

B. 18th Century

C. 19th Century

D. 20th Century

Question ID : 9277593845
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Q.10 T20 क्रिके ट विश्व कप में, दोनों  टीमों  की एक-एक पारी है, जो अधिकतम कितने ओवरों  तक सीमित होती
है?

Ans A. 80

B. 20

C. 40

D. 30

Question ID : 9277593843

Q.11 IAU promotes astronomical research. What is the full form of IAU?
Ans A. The Internal Astronomical Union

B. The International Astronomical Union

C. The Investigation Astronomical Union

D. The International Astro Union

Question ID : 9277593851

Q.12 The total numbers of Vedas are:
Ans A. Four

B. Seven

C. Five

D. Three

Question ID : 9277593838

Q.13 Who won the pageant of Miss Universe 2020?
Ans A. Zozibini Tunzi from South Africa

B. Toni-Ann Singh from Jamaica

C. Andrea Meza from Mexico

D. Catriona Gray from Bangkok

Question ID : 9277593855

Q.14 सुनील दास, अमृता शेरगिल और नंदलाल बोस हैं:
Ans A. वैज्ञानिकों

B. चित्रकारों

C. शास्त्रीय गायक

D. अभिनेताओं

Question ID : 9277593844
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Q.15 Aedes is a genus of "_______________".
Ans A. Mosquitoes

B. Humans

C. Birds

D. Animals

Question ID : 9277593852

Q.16 वर्तमान में (अगस्त 2021 तक), कितने देश संयुक्त राष्ट्र  सुरक्षा परिषद के  स्थायी सदस्य हैं?
Ans A. बीस

B. पंद्रह

C. दस

D. पांच

Question ID : 9277593853

Q.17 Mainly which vitamin protects teeth?
Ans A. Vitamin B12

B. Vitamin D

C. Vitamin B6

D. Vitamin E

Question ID : 9277593850

Q.18 कार्बी आंगलों ग पठार किस क्षेत्र या राज्य में स्थित है?
Ans A. हिमाचल

B. गुजरात

C. असम

D. मेघालय

Question ID : 9277593846

Q.19 Which article of the Indian Constitution is related to the election of the President?
Ans A. Article 51

B. Article 45

C. Article 23

D. Article 55

Question ID : 9277593841

Q.20 देवप्रयाग किस शहर का एक नगर है?
Ans A. गुजरात

B. मध्य प्रदेश

C. उत्तराखंड

D. हिमाचल प्रदेश

Question ID : 9277593847
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Q.1 The LCM and HCF of two numbers A and B is 225 and 5. A+B = 70. What is 1/A+1/B?
Ans A. 14/225

B. 10/225

C. 11/225

D. 14/252

Question ID : 9277593859

Q.2 The amount after 2 years of compound interest is Rs. 9592200 and 3 years of
compound interest is Rs. 10503459. What is the rate of interest and sum of money?

Ans A. 9.5%, Rs. 8000000

B. 9.0%, Rs. 8000000

C. 9.5%, Rs. 9000000

D. 9.0%, Rs. 9000000

Question ID : 9277593870

Q.3 Find the smallest number that is when reduced by 11 is divisible by 6, 12, 18 and 20.
Ans A. 3250

B. 3240

C. 3230

D. 3251

Question ID : 9277593860

Q.4 The average of 41 numbers is 20. The average of first 20 numbers is 15 and last 20
numbers is 13. What is the 21st number?

Ans A. 310

B. 290

C. 320

D. 260

Question ID : 9277593865

Q.5 एक व्यक्ति 11% हानि पर बेचता है लेकिन वह 88 cm को 1 m के  रूप में मापता है। लाभ या हानि
प्रतिशत क्या है?

Ans A. 1.0% हानि

B. 1.2% हानि

C. 1.14% लाभ

D. 1.1% लाभ

Question ID : 9277593867

Section : Arithmetic Ability
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Q.6 The pie chart shows the land cultivation distribution among the crops. If the total
cultivation has been 10000 tones. How much is the cultivation of maize and bajra?

Ans A. 3666.67 tonnes

B. 3664 tonnes

C. 3667 tonnes

D. 3665 tonnes

Question ID : 9277593874

Q.7 A man marks 27% profit on the cost price. He gives a 18% discount on the list price.
What is the actual gain percentage?

Ans A. 4.0%

B. 4.14%

C. 4.5%

D. 5.0%

Question ID : 9277593868

Q.8 The capacity of a cylindrical box is 81466 cubic cm. The radius is 23 cm. What is the
height of the box?

Ans A. 47 cm

B. 50 cm

C. 49 cm

D. 48 cm

Question ID : 9277593871
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Q.9 If the price of the sugar is decreased by 11% then how much the consumption should
be increased so that the consumption expenditure is not decreased?

Ans A. 13.0%

B. 12.36%

C. 12.0%

D. 11.0%

Question ID : 9277593864

Q.10 Mahesh can do a piece of work in 9 days and Ramesh can do the same work in 18
days. If they both work together, how long will they take to complete the work?

Ans A. 6 days

B. 4 days

C. 5 days

D. 7 days

Question ID : 9277593872

Q.11 If 5P+Q/2+3R+S/4+2T = 25.1916 then what is the value of P+Q+R+S+T? (The digit P is in
unit's place, Q in tenth's place, R is in hundredth's place, S is in thousandth's place
and T in ten thousandth's place.)

Ans A. 5.4332

B. 5.2343

C. 4.2334

D. 5.2433

Question ID : 9277593857

Q.12 राम फर्नीचर बेचता है। एक कु र्सी का अंकित मूल्य 24500 रुपए था। उसने श्याम को 17% की छू ट दी।
उसके  बाद श्याम ने सौदेबाजी की और 17800 में कु र्सी ले ली। दू सरी छू ट क्या है जो श्याम को मिली?

Ans A. 12.7%

B. 12.47%

C. 12.4%

D. 12.74%

Question ID : 9277593869

Q.13 चावल का मूल्य 20% से कम हो गया है। कटौती के  बाद, राम एक और Kg चावल खरीद पाता है। राम
का बजट 120 रुपए का है। मूल मूल्य क्या है?

Ans A. 18

B. 30

C. 12

D. 24

Question ID : 9277593863
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Q.14 There are two equations 7x+8z-9y = 5 and 9x-8z+6y = -5. What is x:y?
Ans A. 16:3

B. 3:16

C. 3:1

D. 16:1

Question ID : 9277593861

Q.15 A man walks 5/7 of his usual speed and reaches 10 minutes late. Find his usual time.
Ans A. 25 mins

B. 52 mins

C. 35 mins

D. 50 mins

Question ID : 9277593873

Q.16 The graph shows the year on year production of sugar. In how many years the
production of sugar has decreased by more than 10% over the production in previous
year?

Ans A. 2

B. 1

C. 3

D. 0

Question ID : 9277593875

Q.17 If a/b = 7/8 and 7a+14b+10 = 35 then what is the value of a?
Ans A. 21/20

B. 25/23

C. 20/21

D. 23/25

Question ID : 9277593858
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Q.18 राजेश और राके श की मासिक आय 4:5 के  अनुपात में है। उनका व्यय 6:8 के  अनुपात में है। वे दोनों
एक महीने में 10000 रुपए बचाते हैं। उनकी मासिक आय क्या है?

Ans A. 40000 रुपए, 50000 रुपए

B. 80000 रुपए, 60000 रुपए

C. 50000 रुपए, 40000 रुपए

D. 60000 रुपए, 80000 रुपए

Question ID : 9277593862

Q.19 What is the average of the first 13 multiples of 9?
Ans A. 36

B. 63

C. 6

D. 3

Question ID : 9277593866

Q.20 Simplify: 1+((2-(5-8)-1)-9+2)-1

Ans A. 0.8

B. 0.79

C. 0.77

D. 0.78

Question ID : 9277593856

Q.1 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.

A slight warping of the sea bottom in the vicinity of Torres Strait would be (sufficient to
join the New Guinea to Australia.)

Ans A. sufficient to join the New Guinea to the Australia.

B. No correction required.

C. sufficient to join New Guinea to Australia.

D. sufficient to join New Guinea to the Australia.

Question ID : 9277593879

Q.2 Fill in the blank with the most appropriate choice.

These were the experiences of divinely gifted artists and not _______.
Ans A. perceivers

B. bigots

C. buffoons

D. charlatans

Question ID : 9277593880

Section : General English
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Q.3 Select the most appropriate meaning for the word given below.

Tannery
Ans A. A place where leather products are made.

B. A place where animal hides are treated.

C. A large gathering of people of a particular type.

D. A place where grains are stored.

Question ID : 9277593888

Q.4 The sentences below are not complete. There are four options for each question.
Choose the best word to complete the sentence. 

____________ to not respond to the event in our lives is still a response to the events
in our lives. 

Ans A. Chose

B. Choosed

C. Choose

D. Choosing

Question ID : 9277593881

Q.5 Select the most appropriate meaning of the given proverb.

Still waters run deep.
Ans A. Avoid making mistakes and bad experiences over again.

B. A child adopts characteristics or behaviours from their parents.

C. Introverts have a side to them that they keep hidden.

D. In time you will find a solution.

Question ID : 9277593890

Q.6 Select the word that is similar in meaning (SYNONYM) to the word given below.

ETHEREAL
Ans A. INDELICATE

B. SUBSTANTIAL

C. UNREAL

D. AIRY

Question ID : 9277593886

Q.7 Select the most appropriate meaning of the given idiom.

Fuddy Duddy
Ans A. An old fashioned person.

B. Someone who has a funny personality.

C. Someone who is going to be a father soon.

D. Someone who is extremely audacious.

Question ID : 9277593889
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Q.8 Four words are given, out of which only one word is spelt incorrectly. Choose the
incorrectly spelt word.

Ans A. MILLENNIUM

B. COLONEL

C. ZUCCHINI

D. PLAYWRITE

Question ID : 9277593884

Q.9 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'. 

As Freud once said that, ‘One day, in the / retrospect, the years of struggle will / strike
you as the most beautiful.”

Ans A. As Freud once said that, ‘One day, in the

B. strike you as the most beautiful.”

C. retrospect, the years of struggle will

D. No Error

Question ID : 9277593877

Q.10 The question below consist of a set of labelled sentences. Out of four options given,
select the most logical order of the sentences which form a paragraph.

Adobe Photoshop is a raster graphics editor developed and published by Adobe Inc.
for Windows and macOS. 

P. Since then, the software has become the industry standard not only in raster
graphics editing, but in digital art as a whole. 

Q. Photoshop can edit and compose raster images in multiple layers and supports
masks, alpha compositing and several colour models including RGB, CMYK, CIELAB,
spot colour, and duotone. 

R. It was originally created in 1988 by Thomas and John Knoll. 

S. The software's name has thus become a generic trademark, leading to its usage as
a verb (e.g. "to photoshop an image", "photoshopping", and "photoshop contest")
although Adobe discourages such use.

Photoshop uses its own PSD and PSB file formats to support these features.
Ans A. SPRQ

B. PSQR

C. QPRS

D. RPSQ

Question ID : 9277593883

Q.11 Select the word that is opposite in meaning (ANTONYM) to the word given below.

GLEAMING
Ans A. FLASHING



B. GLOOMY



C. GOLDEN

D. GLITTERING

Question ID : 9277593887
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Q.12 Select the word that is similar in meaning (SYNONYM) to the word given below.

CANONIZATION
Ans A. VETO

B. MOBILIZATION

C. RECOGNITION

D. COMPARISON

Question ID : 9277593885

Q.13 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

Pit bull is a term used in 

P. the United Kingdom the term is used as an abbreviation 

Q. the United States for a type of dog 

R. while in other countries such as 

S. descended from bulldogs and terriers, 

of the American Pit Bull Terrier breed.
Ans A. SRQP

B. QSRP

C. RPQS

D. PQRS

Question ID : 9277593882

Q.14 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'. 

If creative spirit of Periclean age be / manifested in the Parthenon, then the Bolshevist
era is manifested / through its cubist grimace.

Ans A. through its cubist grimace.

B. If creative spirit of Periclean age be

C. No Error

D. manifested in the Parthenon, then the Bolshevist era is manifested

Question ID : 9277593876

Q.15 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.

Thank you for inviting me but the day has been exhausting, (I will neither watch a
movie or go to sleep.)

Ans A. I will be neither watching a movie or go to sleep.

B. I will either watch a movie or go to sleep.

C. I will either watch a movie nor go to sleep.

D. No correction required.

Question ID : 9277593878
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Comprehension:
A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

In Greek mythology, the Amazons are portrayed in a number of ancient epic poems and
legends, such as the Labours of Hercules, the Argonautica and the Iliad. They were a group
of female warriors and hunters, who matched men in physical agility and strength, in archery,
riding skills and the arts of combat. Their society was closed for men and they only raised
their daughters, either killing their sons or returning them to their fathers, with whom they
would only socialize briefly in order to reproduce. Courageous and fiercely independent, the
Amazons, commanded by their queen, regularly undertook extensive military expeditions into
the far corners of the world, from Scythia to Thrace, Asia Minor and the Aegean Islands,
reaching as far as Arabia and Egypt. Besides military raids, the Amazons are also associated
with the foundation of temples and the establishment of numerous ancient cities like Ephesos,
Cyme, Smyrna, Sinope, Myrina, Magnesia, Pygela, etc.

The texts of the original myths envisioned the homeland of the Amazons at the periphery of
the then known world. Various claims to the exact place ranged from provinces in Asia Minor
(Lycia, Caria etc.) to the steppes around the Black Sea, or even Libya. However, authors most
frequently referred to Pontus in northern Anatolia, on the southern shores of the Black Sea, as
the independent Amazon kingdom where the Amazon queen resided at her capital
Themiscyra, on the banks of the Thermodon river. Decades of archaeological discoveries of
countless burial sites of female warriors, including royalty, in the Eurasian Steppes prove that
the horse cultures of Scythian, Sarmatian, Hittite and other women have inspired and
fundamentally defined the Amazon myth. In 2019, a grave with multiple generations of female
Scythian warriors, armed and in golden headdresses, was found near Russia's Voronezh.

SubQuestion No : 16
Q.16 On the basis of your reading of the above passage, select the most appropriate

heading for the same.
Ans A. Aegean Island Warriors

B. Scythian Warriors

C. Greek Mythology

D. The Amazons

Question ID : 9277593894
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Comprehension:
A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

In Greek mythology, the Amazons are portrayed in a number of ancient epic poems and
legends, such as the Labours of Hercules, the Argonautica and the Iliad. They were a group
of female warriors and hunters, who matched men in physical agility and strength, in archery,
riding skills and the arts of combat. Their society was closed for men and they only raised
their daughters, either killing their sons or returning them to their fathers, with whom they
would only socialize briefly in order to reproduce. Courageous and fiercely independent, the
Amazons, commanded by their queen, regularly undertook extensive military expeditions into
the far corners of the world, from Scythia to Thrace, Asia Minor and the Aegean Islands,
reaching as far as Arabia and Egypt. Besides military raids, the Amazons are also associated
with the foundation of temples and the establishment of numerous ancient cities like Ephesos,
Cyme, Smyrna, Sinope, Myrina, Magnesia, Pygela, etc.

The texts of the original myths envisioned the homeland of the Amazons at the periphery of
the then known world. Various claims to the exact place ranged from provinces in Asia Minor
(Lycia, Caria etc.) to the steppes around the Black Sea, or even Libya. However, authors most
frequently referred to Pontus in northern Anatolia, on the southern shores of the Black Sea, as
the independent Amazon kingdom where the Amazon queen resided at her capital
Themiscyra, on the banks of the Thermodon river. Decades of archaeological discoveries of
countless burial sites of female warriors, including royalty, in the Eurasian Steppes prove that
the horse cultures of Scythian, Sarmatian, Hittite and other women have inspired and
fundamentally defined the Amazon myth. In 2019, a grave with multiple generations of female
Scythian warriors, armed and in golden headdresses, was found near Russia's Voronezh.

SubQuestion No : 17
Q.17 According the above passage, which of the following is not a skill of the women

warriors mentioned in the passage?
Ans A. Horse Riding

B. Art of Combat

C. Archery

D. Vagabond

Question ID : 9277593893
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Comprehension:
A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

In Greek mythology, the Amazons are portrayed in a number of ancient epic poems and
legends, such as the Labours of Hercules, the Argonautica and the Iliad. They were a group
of female warriors and hunters, who matched men in physical agility and strength, in archery,
riding skills and the arts of combat. Their society was closed for men and they only raised
their daughters, either killing their sons or returning them to their fathers, with whom they
would only socialize briefly in order to reproduce. Courageous and fiercely independent, the
Amazons, commanded by their queen, regularly undertook extensive military expeditions into
the far corners of the world, from Scythia to Thrace, Asia Minor and the Aegean Islands,
reaching as far as Arabia and Egypt. Besides military raids, the Amazons are also associated
with the foundation of temples and the establishment of numerous ancient cities like Ephesos,
Cyme, Smyrna, Sinope, Myrina, Magnesia, Pygela, etc.

The texts of the original myths envisioned the homeland of the Amazons at the periphery of
the then known world. Various claims to the exact place ranged from provinces in Asia Minor
(Lycia, Caria etc.) to the steppes around the Black Sea, or even Libya. However, authors most
frequently referred to Pontus in northern Anatolia, on the southern shores of the Black Sea, as
the independent Amazon kingdom where the Amazon queen resided at her capital
Themiscyra, on the banks of the Thermodon river. Decades of archaeological discoveries of
countless burial sites of female warriors, including royalty, in the Eurasian Steppes prove that
the horse cultures of Scythian, Sarmatian, Hittite and other women have inspired and
fundamentally defined the Amazon myth. In 2019, a grave with multiple generations of female
Scythian warriors, armed and in golden headdresses, was found near Russia's Voronezh.

SubQuestion No : 18
Q.18 On the basis of your reading of the above passage, which of the following is not an

ancient city developed by the subject of the passage?
Ans A. Thermodon

B. Pygela

C. Ephesos

D. Cyme

Question ID : 9277593895
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Comprehension:
A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

In Greek mythology, the Amazons are portrayed in a number of ancient epic poems and
legends, such as the Labours of Hercules, the Argonautica and the Iliad. They were a group
of female warriors and hunters, who matched men in physical agility and strength, in archery,
riding skills and the arts of combat. Their society was closed for men and they only raised
their daughters, either killing their sons or returning them to their fathers, with whom they
would only socialize briefly in order to reproduce. Courageous and fiercely independent, the
Amazons, commanded by their queen, regularly undertook extensive military expeditions into
the far corners of the world, from Scythia to Thrace, Asia Minor and the Aegean Islands,
reaching as far as Arabia and Egypt. Besides military raids, the Amazons are also associated
with the foundation of temples and the establishment of numerous ancient cities like Ephesos,
Cyme, Smyrna, Sinope, Myrina, Magnesia, Pygela, etc.

The texts of the original myths envisioned the homeland of the Amazons at the periphery of
the then known world. Various claims to the exact place ranged from provinces in Asia Minor
(Lycia, Caria etc.) to the steppes around the Black Sea, or even Libya. However, authors most
frequently referred to Pontus in northern Anatolia, on the southern shores of the Black Sea, as
the independent Amazon kingdom where the Amazon queen resided at her capital
Themiscyra, on the banks of the Thermodon river. Decades of archaeological discoveries of
countless burial sites of female warriors, including royalty, in the Eurasian Steppes prove that
the horse cultures of Scythian, Sarmatian, Hittite and other women have inspired and
fundamentally defined the Amazon myth. In 2019, a grave with multiple generations of female
Scythian warriors, armed and in golden headdresses, was found near Russia's Voronezh.

SubQuestion No : 19
Q.19 Three assertions are given below (A, B & C) on the basis of your understanding of the

passage, which one of the options is correct?

A. On the banks of the Thermodon river, Amazon queen resided at her capital
Themiscyra.

B. The Scythian warriors are a myth.

C. The Amazons had a matriarchal society.
Ans A. B and C are correct.

B. All are correct.

C. Only A is correct.

D. B is correct.

Question ID : 9277593892
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Comprehension:
A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

In Greek mythology, the Amazons are portrayed in a number of ancient epic poems and
legends, such as the Labours of Hercules, the Argonautica and the Iliad. They were a group
of female warriors and hunters, who matched men in physical agility and strength, in archery,
riding skills and the arts of combat. Their society was closed for men and they only raised
their daughters, either killing their sons or returning them to their fathers, with whom they
would only socialize briefly in order to reproduce. Courageous and fiercely independent, the
Amazons, commanded by their queen, regularly undertook extensive military expeditions into
the far corners of the world, from Scythia to Thrace, Asia Minor and the Aegean Islands,
reaching as far as Arabia and Egypt. Besides military raids, the Amazons are also associated
with the foundation of temples and the establishment of numerous ancient cities like Ephesos,
Cyme, Smyrna, Sinope, Myrina, Magnesia, Pygela, etc.

The texts of the original myths envisioned the homeland of the Amazons at the periphery of
the then known world. Various claims to the exact place ranged from provinces in Asia Minor
(Lycia, Caria etc.) to the steppes around the Black Sea, or even Libya. However, authors most
frequently referred to Pontus in northern Anatolia, on the southern shores of the Black Sea, as
the independent Amazon kingdom where the Amazon queen resided at her capital
Themiscyra, on the banks of the Thermodon river. Decades of archaeological discoveries of
countless burial sites of female warriors, including royalty, in the Eurasian Steppes prove that
the horse cultures of Scythian, Sarmatian, Hittite and other women have inspired and
fundamentally defined the Amazon myth. In 2019, a grave with multiple generations of female
Scythian warriors, armed and in golden headdresses, was found near Russia's Voronezh.

SubQuestion No : 20
Q.20 According the above passage, which of the following adjective is incorrect with

reference to the women warriors & their society mentioned in the passage?
Ans A. Self-effacing

B. Robust

C. Autonomous

D. Courageous

Question ID : 9277593896

Q.1 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो विराम चिह्न युक्त वाक्य का सही
विकल्प है |

Ans A. स्मिता ,महक ,श्वेता आदि भी आई हैं , ये सब अब बाजार जायेंगी ;

B. स्मिता ,महक ,श्वेता आदि भी आई हैं , ये सब अब बाजार जायेंगी

C. स्मिता ,महक ,श्वेता आदि भी आई हैं , ये सब अब बाजार जायेंगी''

D. स्मिता ,महक ,श्वेता आदि भी आई हैं , ये सब अब बाजार जायेंगी |

Question ID : 9277593908

Q.2 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो दिए गए शब्द का समानार्थी शब्द
नहीं  है |

तबीयत
Ans A. दशा

B. हालचाल

C. गात्र

D. अवस्था

Question ID : 9277593904
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Q.3 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो दिए गए शब्द -युग्म का सही अर्थ
वाला विकल्प हो |

अनिष्ट - अनिष्ठ
Ans A. खान ,बनावट

B. बुरा , निष्ठाहीन

C. विराम ,पूजा

D. ढका हुआ ,दोहराना

Question ID : 9277593902

Q.4 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो वाक्यांश के  लिए प्रयुक्त एक शब्द
का सही विकल्प हो |

जो मोक्ष चाहे -
Ans A. मुमुक्षु

B. मीमांशा

C. मौलिक

D. नभचर

Question ID : 9277593901

Q.5 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो दिये गए शब्द का सही तत्सम शब्द
है |

शिवाला
Ans A. शिव

B. शिवालय

C. शील

D. शुक्ल

Question ID : 9277593897

Q.6 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो दिये गए संधि - विच्छेद शब्द का
सही संधि का विकल्प हो |

षट् + मुख
Ans A. षट्मुख

B. षतमुख

C. षमुख

D. षण्मुख

Question ID : 9277593899
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Q.7 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो दिये गए संधि शब्द का सही संधि-
विच्छेद शब्द का विकल्प हो |

जगज्जीवन
Ans A. जगत् + जीवन

B. जग + जीवन

C. जगवन

D. जगद + जीवन

Question ID : 9277593900

Q.8 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो दिए गए वाक्य के  काल भेद का
सही विकल्प है |

यदी मैंने निबंध लिखा होता, तो मुझे इनाम अवश्य मिलता |
Ans A. सामान्य वर्तमान काल

B. हेतुहेतुमद भूतकाल

C. सन्दिग्ध भूतकाल

D. सामान्य भविष्यत् काल

Question ID : 9277593905

Q.9 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो शुद्ध शब्द का सही विकल्प हो |
Ans A. चहाता

B. अनुशरण

C. आक्षादन

D. ज्योत्सना

Question ID : 9277593903

Q.10 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो दिए गए वाक्य के  भेद का सही
विकल्प है |

परिश्रमी कभी निराश नहीं  होते |
Ans A. प्रश्न वाचक वाक्य

B. संयुक्त वाक्य

C. सरल वाक्य

D. मिश्रित वाक्य

Question ID : 9277593907

Q.11 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो विराम चिह्न युक्त वाक्य का सही
विकल्प है |

Ans A. नहीं  .. कल मैं तुम्हारे  घर नहीं  आ सकूं गी |

B. नहीं  , कल मैं तुम्हारे  घर नहीं  आ सकूं गी

C. नहीं  , कल मैं तुम्हारे  घर नहीं  आ सकूं गी |

D. नहीं  , कल मैं तुम्हारे  घर नहीं  आ सकूं गी ''

Question ID : 9277593909
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Q.12 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो दिए गए मुहावरे  का सही अर्थ हो |

ठहाका मारना -
Ans A. जोर से हँसना

B. दुखभरी सांस लेना

C. शेखी मारना

D. खुशामद करना

Question ID : 9277593910

Q.13 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो दिए गए वाक्य के  भेद का सही
विकल्प है |

राम बहुत तेज़ दौड़ा था तथा भी प्रथम न आ सका |
Ans A. सरल वाक्य

B. मिश्रित वाक्य

C. संयुक्त वाक्य

D. प्रश्न वाचक वाक्य

Question ID : 9277593906

Q.14 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो दिए गए लोकोक्ति का सही अर्थ हो
|

एक अके ला, दो ग्यारह=
Ans A. ऐसे लोग जिनके  कहीं  कोई इज्जत न हो

B. कष्ट सहने के  लिए तैयार व्यक्ति को कष्ट का डर नहीं  रहता

C. संगठन में शक्ति होती है

D. किसी कार्य को संपन्न कराने के  लिए किसी एक समर्थ व्यक्ति का सहारा लेना |

Question ID : 9277593911

Q.15 निम्नलिखित प्रश्न में ,चार विकल्पों में से उस विकल्प का चयन करें  जो दिये गए शब्द का सही तदभव शब्द
है |

तीक्ष्ण
Ans A. अरक

B. तीखा

C. ताम्बा

D. धुआँ

Question ID : 9277593898
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Comprehension:

नीचे दिए गए गद्यांश को ध्यानपूर्वक पढ़ें  और पूछे  गए प्रश्नों का सर्वोत्तम उत्तर चुनें |

सत्य-व्यवहार एं व वचन को आखिर तप क्यों कहा गया है? इस प्रश्न का उत्तर सहज-सरल है कि विश्व में प्रेम और
सत्य मार्ग पर चल पाना खांडे की धार पर चल पाने समान कठित हुआ करता है। सत्य के  साधक और व्यवहारक
के  सामने हर कदम पर अनेक कठिनाइयों का सामना करना पड़ता है। उसके  अपने भी उस सबसे घबराकर
अक्सर साथ छोड़ दिया करते हैं। सब प्रकार के  दबाव और कष्ट झेलते हुए सत्य के  साधक और उपासक को
अपनी राह पर अके ले ही चलना पड़ता है। यदि व्यक्ति अपनी बुराई को छिपाता नहीं , बल्कि स्वीकार कर लेता है,
तो उसमें सुधार की प्रत्येक संभावना बनी रहती है। लेकिन मानव अपने स्वभाव से बड़ा ही कमजोर और डरपोक
हुआ करता है। वह बुराई को छिपाने के  लिए अक्सर झूठ का सहारा लिया करता है। जब एक बार कोई झूठ
बोलता है तो उसे छिपाने के  लिए उसे एक-के -बाद-एक निरंतर झूठ की राह पर बढ़ते जाने के  लिए विवश होते
जाना पड़ता है। फिर किसी भी प्रकार झूठों और झूठे  व्यवहारों से पिंड छुड़ाना मुश्किल हो जाया करता है। मनुष्य
सभी का घृणा का पात्र बनकर रह जाता है। जीवन एक प्रकार का बोझ साबित होने लगता है। इन्हीं  सब व्यवहार
मूलक तथ्यों के  आलोक में सत्य के  शोधक संत कवि ने झूठ को सबसे बड़ा पाप उचित ही ठहराया है।

SubQuestion No : 16
Q.16 सत्य के  मार्ग पर चलना किसके  समान है ?
Ans A. खांडे के  धार के  समान है

B. बहुत आसान है

C. बाएँ  हाथ का खेल है

D. सरल ही सरल है

Question ID : 9277593913

Comprehension:

नीचे दिए गए गद्यांश को ध्यानपूर्वक पढ़ें  और पूछे  गए प्रश्नों का सर्वोत्तम उत्तर चुनें |

सत्य-व्यवहार एं व वचन को आखिर तप क्यों कहा गया है? इस प्रश्न का उत्तर सहज-सरल है कि विश्व में प्रेम और
सत्य मार्ग पर चल पाना खांडे की धार पर चल पाने समान कठित हुआ करता है। सत्य के  साधक और व्यवहारक
के  सामने हर कदम पर अनेक कठिनाइयों का सामना करना पड़ता है। उसके  अपने भी उस सबसे घबराकर
अक्सर साथ छोड़ दिया करते हैं। सब प्रकार के  दबाव और कष्ट झेलते हुए सत्य के  साधक और उपासक को
अपनी राह पर अके ले ही चलना पड़ता है। यदि व्यक्ति अपनी बुराई को छिपाता नहीं , बल्कि स्वीकार कर लेता है,
तो उसमें सुधार की प्रत्येक संभावना बनी रहती है। लेकिन मानव अपने स्वभाव से बड़ा ही कमजोर और डरपोक
हुआ करता है। वह बुराई को छिपाने के  लिए अक्सर झूठ का सहारा लिया करता है। जब एक बार कोई झूठ
बोलता है तो उसे छिपाने के  लिए उसे एक-के -बाद-एक निरंतर झूठ की राह पर बढ़ते जाने के  लिए विवश होते
जाना पड़ता है। फिर किसी भी प्रकार झूठों और झूठे  व्यवहारों से पिंड छुड़ाना मुश्किल हो जाया करता है। मनुष्य
सभी का घृणा का पात्र बनकर रह जाता है। जीवन एक प्रकार का बोझ साबित होने लगता है। इन्हीं  सब व्यवहार
मूलक तथ्यों के  आलोक में सत्य के  शोधक संत कवि ने झूठ को सबसे बड़ा पाप उचित ही ठहराया है।

SubQuestion No : 17
Q.17 अनुच्छेद के  लिए उचित शीर्षक दीजिये |
Ans A. सत्यान्वेषी

B. सत्य और मिथ्या में अंतर

C. सत्य की जय होती है

D. सत्यमेव जयते

Question ID : 9277593917
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Comprehension:

नीचे दिए गए गद्यांश को ध्यानपूर्वक पढ़ें  और पूछे  गए प्रश्नों का सर्वोत्तम उत्तर चुनें |

सत्य-व्यवहार एं व वचन को आखिर तप क्यों कहा गया है? इस प्रश्न का उत्तर सहज-सरल है कि विश्व में प्रेम और
सत्य मार्ग पर चल पाना खांडे की धार पर चल पाने समान कठित हुआ करता है। सत्य के  साधक और व्यवहारक
के  सामने हर कदम पर अनेक कठिनाइयों का सामना करना पड़ता है। उसके  अपने भी उस सबसे घबराकर
अक्सर साथ छोड़ दिया करते हैं। सब प्रकार के  दबाव और कष्ट झेलते हुए सत्य के  साधक और उपासक को
अपनी राह पर अके ले ही चलना पड़ता है। यदि व्यक्ति अपनी बुराई को छिपाता नहीं , बल्कि स्वीकार कर लेता है,
तो उसमें सुधार की प्रत्येक संभावना बनी रहती है। लेकिन मानव अपने स्वभाव से बड़ा ही कमजोर और डरपोक
हुआ करता है। वह बुराई को छिपाने के  लिए अक्सर झूठ का सहारा लिया करता है। जब एक बार कोई झूठ
बोलता है तो उसे छिपाने के  लिए उसे एक-के -बाद-एक निरंतर झूठ की राह पर बढ़ते जाने के  लिए विवश होते
जाना पड़ता है। फिर किसी भी प्रकार झूठों और झूठे  व्यवहारों से पिंड छुड़ाना मुश्किल हो जाया करता है। मनुष्य
सभी का घृणा का पात्र बनकर रह जाता है। जीवन एक प्रकार का बोझ साबित होने लगता है। इन्हीं  सब व्यवहार
मूलक तथ्यों के  आलोक में सत्य के  शोधक संत कवि ने झूठ को सबसे बड़ा पाप उचित ही ठहराया है।

SubQuestion No : 18
Q.18 व्यक्ति का सुधार किस प्रकार संभव है ?
Ans A. अपनी बुराई को न छिपाकर , उसे स्वीकार करना

B. अपनी बुराई कभी न मानना

C. हमेशा झूठ बोलना

D. खुद की बड़ाई करना

Question ID : 9277593914

Comprehension:

नीचे दिए गए गद्यांश को ध्यानपूर्वक पढ़ें  और पूछे  गए प्रश्नों का सर्वोत्तम उत्तर चुनें |

सत्य-व्यवहार एं व वचन को आखिर तप क्यों कहा गया है? इस प्रश्न का उत्तर सहज-सरल है कि विश्व में प्रेम और
सत्य मार्ग पर चल पाना खांडे की धार पर चल पाने समान कठित हुआ करता है। सत्य के  साधक और व्यवहारक
के  सामने हर कदम पर अनेक कठिनाइयों का सामना करना पड़ता है। उसके  अपने भी उस सबसे घबराकर
अक्सर साथ छोड़ दिया करते हैं। सब प्रकार के  दबाव और कष्ट झेलते हुए सत्य के  साधक और उपासक को
अपनी राह पर अके ले ही चलना पड़ता है। यदि व्यक्ति अपनी बुराई को छिपाता नहीं , बल्कि स्वीकार कर लेता है,
तो उसमें सुधार की प्रत्येक संभावना बनी रहती है। लेकिन मानव अपने स्वभाव से बड़ा ही कमजोर और डरपोक
हुआ करता है। वह बुराई को छिपाने के  लिए अक्सर झूठ का सहारा लिया करता है। जब एक बार कोई झूठ
बोलता है तो उसे छिपाने के  लिए उसे एक-के -बाद-एक निरंतर झूठ की राह पर बढ़ते जाने के  लिए विवश होते
जाना पड़ता है। फिर किसी भी प्रकार झूठों और झूठे  व्यवहारों से पिंड छुड़ाना मुश्किल हो जाया करता है। मनुष्य
सभी का घृणा का पात्र बनकर रह जाता है। जीवन एक प्रकार का बोझ साबित होने लगता है। इन्हीं  सब व्यवहार
मूलक तथ्यों के  आलोक में सत्य के  शोधक संत कवि ने झूठ को सबसे बड़ा पाप उचित ही ठहराया है।

SubQuestion No : 19
Q.19 मनुष्य सभी का घृणा का पात्र क्यों बनता है ?
Ans A. सबकी सहायता करने के  कारण

B. झूठे  व्यवहार के  कारण

C. न्याय करने के  कारण

D. सत्य बोलने के  कारण

Question ID : 9277593915
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Comprehension:

नीचे दिए गए गद्यांश को ध्यानपूर्वक पढ़ें  और पूछे  गए प्रश्नों का सर्वोत्तम उत्तर चुनें |

सत्य-व्यवहार एं व वचन को आखिर तप क्यों कहा गया है? इस प्रश्न का उत्तर सहज-सरल है कि विश्व में प्रेम और
सत्य मार्ग पर चल पाना खांडे की धार पर चल पाने समान कठित हुआ करता है। सत्य के  साधक और व्यवहारक
के  सामने हर कदम पर अनेक कठिनाइयों का सामना करना पड़ता है। उसके  अपने भी उस सबसे घबराकर
अक्सर साथ छोड़ दिया करते हैं। सब प्रकार के  दबाव और कष्ट झेलते हुए सत्य के  साधक और उपासक को
अपनी राह पर अके ले ही चलना पड़ता है। यदि व्यक्ति अपनी बुराई को छिपाता नहीं , बल्कि स्वीकार कर लेता है,
तो उसमें सुधार की प्रत्येक संभावना बनी रहती है। लेकिन मानव अपने स्वभाव से बड़ा ही कमजोर और डरपोक
हुआ करता है। वह बुराई को छिपाने के  लिए अक्सर झूठ का सहारा लिया करता है। जब एक बार कोई झूठ
बोलता है तो उसे छिपाने के  लिए उसे एक-के -बाद-एक निरंतर झूठ की राह पर बढ़ते जाने के  लिए विवश होते
जाना पड़ता है। फिर किसी भी प्रकार झूठों और झूठे  व्यवहारों से पिंड छुड़ाना मुश्किल हो जाया करता है। मनुष्य
सभी का घृणा का पात्र बनकर रह जाता है। जीवन एक प्रकार का बोझ साबित होने लगता है। इन्हीं  सब व्यवहार
मूलक तथ्यों के  आलोक में सत्य के  शोधक संत कवि ने झूठ को सबसे बड़ा पाप उचित ही ठहराया है।

SubQuestion No : 20
Q.20 जीवन' का विलोम शब्द क्या है ?
Ans A. मरण

B. हयात

C. जान

D. प्राण

Question ID : 9277593916

Q.1 If f(x)=-x²+3 , then by tracing it's graph find the derivative ?
Ans A. -x

B. -2x

C. +2x

D. x

Question ID : 9277593918

Q.2 The curve given by x²+y=0 is symmetrical around ________________.
Ans A. around the line x=y

B. y axis

C. x axis

D. about the origin

Question ID : 9277593922

Q.3 If sign of f'>0 , then what can you say about nature of f?
Ans A. f is increasing

B. f increases as well as decreasing

C. f neither increases nor decreasing

D. f is decreasing

Question ID : 9277593919
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Q.4 Find the x co-ordinate of one of the inflection points of f(x)=x³+x²+1.
Ans A. (-1/3)

B. (1/2)

C. (-1/2)

D. (1/3)

Question ID : 9277593920

Q.5 The surface area of sphere x²+y²+z²=16, is ?
Ans A. 64π

B. 4π

C. 16π

D. 8π

Question ID : 9277593923

Q.6 Pick the wrong statement?
Ans A. Elementary rows or column operators doesn't affect rank of matrix

B. Rank of invertible idempotent matrix is n+1

C. A is non singular if and only if AB=I or BA=I for some B to be n×n matrix

D. Equivalent matrix holds equivalence relation

Question ID : 9277593935

Q.7 Find the volume of curve y=x²; on the x axis on interval [0,1] around x axis ?
Ans A. (π/7)

B. (π/5)

C. π

D. 0

Question ID : 9277593924

Q.8 When p(z) divides the line joining the points A and B in the ratio m:n internally then z
is given by what?

Ans A. (mz²-nz¹)/(m-n)

B. m+n+mn

C. m+n-mn

D. (mz²+nz¹)/(m+n)

Question ID : 9277593928

Q.9 Find the skew symmetric matrix of order 2 whose entries belong to the set {0,1,-1}?
Ans A. 5

B. 3

C. 6

D. 4

Question ID : 9277593936
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Q.10 If z=1+3i, find the polynomial generated by its roots?
Ans A. z²+2z+10

B. z²-2z+10

C. z²-2z-10

D. z²+2z+20

Question ID : 9277593929

Q.11 Find grad(f) if f(x,y,z)=xy+y²z at the point (0,1,-1) ?
Ans A. î+2j+k

B. î-2j+k

C. î-j-k

D. 2i+j+k

Question ID : 9277593927

Q.12 If a,b,c are vertices of an equilateral triangle ,then a²+b²+c²=_______?
Ans A. ab-bc-ca

B. ab+bc-ca

C. a/(b+c)

D. ab+bc+ca

Question ID : 9277593933

Q.13 If r = xî+yj+zk be the position vector given to us , then find curl(r) ?
Ans A. 1

B. 2

C. 3

D. 0

Question ID : 9277593925

Q.14 If R is a relation which connects two elements x and y such that xRy = x-y is even
integer , then which of the properties of equivalence relation is satisfied here?

Ans A. R is transitive

B. R is an equivalence relation

C. R is reflexive

D. R is symmetric

Question ID : 9277593931

Q.15 If A=5 ,then find the number of commutative binary operations on A?
Ans A. 5¹⁰

B. 5⁵

C. 5¹⁵

D. 5³

Question ID : 9277593930



9/8/21, 4:11 PM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258O21338/1258O21338S1D12/1630904147…

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258O21338/1258O21338S1D12/16309041477676309/112903… 34/50

Q.16 Which of the following is not a Euclidean domain?
Ans A. Every field F with norm N as N(a)=1

B. Z

C. The field of rational numbers under absolute value given by N(a)=|a|

D. Z[i]

Question ID : 9277593921

Q.17 If a=î+j+2k ; b=î-j-k be the two vectors given to us , then find the value of cosine of
angle between them ?

Ans A. -0.3556

B. -0.4713

C. 0.4713

D. 0.3556

Question ID : 9277593926

Q.18 Using row echelon form find x and y if x+2y=1;2x+y=2?
Ans A. (1,0)

B. (0,2)

C. (2,0)

D. (0,1)

Question ID : 9277593937

Q.19 Find the value of (cos¢+isin¢)⅘?
Ans A. cos(4/5)¢+isin(4/5)¢

B. cos¢+isin¢

C. cos(5/4)¢+isin(5/4)¢

D. cos5¢+isin5¢

Question ID : 9277593932

Q.20 Find the polynomial whose roots are -1,1-2w,1-2w²?
Ans A. (x-1)³+8

B. (x-1)³-8

C. x³+8

D. (x-1)³

Question ID : 9277593934
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Q.1 Which of the following is not a component of mathematical model?
Ans A. variables

B. factors

C. constants

D. noise parameters

Question ID : 9277593956

Q.2 If f={2,2²,2³,...}, then check about whether it is bounded above or below or bounded or
unbounded?

Ans A. f is bounded above by 2 but not bounded below

B. f is unbounded

C. f never attains its bound

D. f is bounded below by 2 but unbounded above

Question ID : 9277593941

Q.3 Find the integrating factor of (y-xy²)dx-(x+x²y)dy ?
Ans A. 1/2y

B. y/2x

C. 1/2x

D. 1/2xy

Question ID : 9277593954

Q.4 Which growth curve indicates that, "living organisms is growing in natural
environment"?

Ans A. parametric curve

B. logistic curve

C. sigmoid growth curve

D. t curve

Question ID : 9277593952

Q.5 The series given by 1+(1/5)+(1/5²)+.... is _____________.
Ans A. oscillates infinitely

B. oscillates finitely

C. divergent

D. convergent

Question ID : 9277593946
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Q.6 The series given by 1×5,2×5²,3×5³,..... is a _______________ series ?
Ans A. arithmetic series



B. harmonic series

C. geometric series

D. arithmetico-geometric series

Question ID : 9277593947

Q.7 Which theorem states that ," Between any two distinct numbers, there lies at least on
rational number and hence there lies many rational numbers

Ans A. Cantor's theorem

B. Density theorem

C. Archimedean property

D. Hahn Banach theorem

Question ID : 9277593939

Q.8 Check about monotonicity of the function given by f=?
Ans A. it is monotonically increasing

B. it is monotonically decreasing

C. it is monotonically increasing as well as decreasing

D. it is neither monotonically increasing nor decreasing

Question ID : 9277593943

Q.9 In engineering problems, there are some statement in which we have to use
mathematical expression in terms of variable , function and equation ,such expression
are termed as _______________?

Ans A. ring solutions

B. mathematical models

C. terms of continuity

D. models of time

Question ID : 9277593949

Q.10 What kind of information is given to us in mathematical models?
Ans A. approximate wrong results

B. estimated results

C. accurate results

D. wrong results

Question ID : 9277593948
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Q.11 Which of the following is uncountable?
Ans A. The unit interval [0,1]

B. The set of a rational numbers in [0,1]

C. Every subset of countable set

D. The set of all integers

Question ID : 9277593938

Q.12 Find the range of the sequence given by f=<(1/n)> ?
Ans A. zero

B. {1,1/3,1/5.,..}

C. {1,1/2,1/3,...}

D. {1,2,3,...}

Question ID : 9277593942

Q.13 The series given by 1/(2.3)+2/(3.4)+4/(4.5)+... is ________________.
Ans A. divergent

B. oscillates infinitely

C. convergent

D. oscillates finitely

Question ID : 9277593945

Q.14 Solve the given differential equation y²dx+2xydy=0 ?
Ans A. yx²=k

B. xy²=k

C. yx³=k

D. xy=k

Question ID : 9277593953

Q.15 Which of the following statement is true ?
Ans A. The union of any arbitrary family of open sets is open

B. The intersection of an arbitrary number of open sets is open

C. The intersection of any finite number of open sets is open

D. The intersection of any finite number of open set is closed

Question ID : 9277593940

Q.16 Find the terms of the sequence given by <1+1/n²>?
Ans A. <1,2,3,..>

B. <2,5/4,10/9,...>

C. <1,1,1,....>

D. <1,1/4,1/9,..>

Question ID : 9277593944
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Q.17 Which of the following is not a type of mathematical model?
Ans A. presumptions

B. heuristics

C. insilicators

D. abstractions

Question ID : 9277593955

Q.18 Population growth rate is calculated by which of the following term?
Ans A. dN/dT=rN

B. dN=rN

C. dN=-rN

D. dN/dT=-rN

Question ID : 9277593950

Q.19 When per capita rate increases, we take same positive value we get _____ growth?
Ans A. logistic

B. carrying capacity

C. linguistics

D. exponential

Question ID : 9277593951

Q.20 According to which model, top down approach focus on existing theory and begins
with hypothesis Is based on ?

Ans A. dynamic static model

B. static model

C. deductive model

D. dynamic model

Question ID : 9277593957

Q.1 Find the absolute maxima of f(x)=5x³+x²-x+1 on [-1,2]?
Ans A. at x=-1

B. at x=2

C. at x=1/5

D. at x=1/3

Question ID : 9277593970
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Q.2 Let F=xi+yj+zk ,then find the integral of F around the simple closed curve C over the
boundary of surface S?

Ans A. 0

B. 3

C. 1

D. 2

Question ID : 9277593974

Q.3 According to which theorem , there exists a real number C between a and b such that
f'(C)=0 whenever f'(a)f'(b)<0 such that f be defined and derivable on [a,b]?

Ans A. Milne theorem

B. Dirichilets theorem

C. riesz's theorem

D. Darboux's theorem

Question ID : 9277593962

Q.4 If f and g are Riemann integrable on [a,b] , then which of the following property doesn't
holds ?

Ans A. f² is R-integrable

B. max{f,g} is R-integrable

C. min{f,g} is R-integrable

D. |f| is not R-integrable

Question ID : 9277593977

Q.5 Taylor's theorem is mainly used in expressing the function as a sum with
_______________ terms ?

Ans A. infinite

B. finite

C. complete

D. partial

Question ID : 9277593965

Q.6 Find the value of integral of f ; where f(x,y)=(x²y+xy)dx+(x²+y²)dy over the limits -1 to
1?

Ans A. 0

B. 1

C. 3

D. 2

Question ID : 9277593973
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Q.7 If f(x,y,z)= x²+y²+z²-xyz+4 ,then f(x,y,z)=_______?
Ans A. -f(x,y,-z)

B. f(z,y,x)

C. 0

D. f(-x,y,z)

Question ID : 9277593967

Q.8 Which theorem states that," If f and g are continuous function from R to R such that
f(x)=g(x) for all rational ,then f(x)=g(x) for all reals too"?

Ans A. Cauchy theorem

B. Bertrand theorem

C. mean value theorem

D. identity theorem

Question ID : 9277593964

Q.9 Find the expansion of cos(x²) ?
Ans A. 1+x⁴/2!+x⁸/4!+...

B. 1-x⁴/2!+x⁸/4!-...

C. 1+x+x²/2!+...

D. 1+x-x²/2!+...

Question ID : 9277593966

Q.10 If r=3tî+4tj-7t²k , find the derivative dr/dt?
Ans A. 3i+4j-14tk

B. 3i+7j+78k

C. 3i+4j+14tk

D. 3i+2j-5k

Question ID : 9277593975

Q.11 If u and v are continuous on [a,b] and have equal finite derivatives in [a,b] ,then u-v is
_____________.

Ans A. f/g

B. constant

C. g

D. infinite

Question ID : 9277593963
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Q.12 Check about the nature of continuity of f(x)=x/(x+1) in [0,2]?
Ans A. not continuous

B. not uniformly continuous

C. uniformly continuous

D. continuous but not uniformly continuous

Question ID : 9277593961

Q.13 Find the maximum and minimum values of f(x)= sin(sin(x)) respectively ?
Ans A. sin(1) and sin(2)

B. sin(2) and sin(1)

C. sin(1) and sin(-1)

D. sin(0) and sin(90)

Question ID : 9277593969

Q.14 Find the limit of sin (y)/x ,where (x,y) approaches to (0,0)?
Ans A. infinite

B. 0

C. doesn't exist

D. 1

Question ID : 9277593968

Q.15 Check about the continuity of function given by f(x)=√x in interval [0,2] ?
Ans A. it is not uniformly continuous

B. discontinuous everywhere

C. can't say about continuity of f

D. it is uniformly continuous

Question ID : 9277593960

Q.16 Evaluate the triple integral of f(x,y,z)=xdxdydz where x,y,z varies from 0 to 1?
Ans A. (1/5)

B. (1/2)

C. (1/4)

D. (1/3)

Question ID : 9277593971

Q.17 Find the limit of the derivative of function f(x,y)=xy²/(x²+y⁴) at the point u (√2,√2)?
Ans A. 2

B. 0

C. √2/3

D. √3

Question ID : 9277593958
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Q.18 Pick the correct statement?
Ans A. Green's theorem and Stoke's theorem are same

B. Green's theorem is particular form of Stoke's theorem

C. Green's theorem and Stoke's theorem are entirely different

D. Stoke's theorem is particular form of Green's theorem

Question ID : 9277593972

Q.19 If f:R to R is continuous and f(x) is continuous for every x in Q then f(x) is continuous
on x in R, which theorem states this fact?

Ans A. Initial value theorem

B. Identity theorem

C. Weierstrass factor theorem

D. Riemann theorem

Question ID : 9277593959

Q.20 Determine the order of poles cosecz?
Ans A. a pole of order 3

B. no pole occurs at z=0

C. z=0 is the simple pole

D. z=0 is the irregular singularity

Question ID : 9277593976

Q.1 The set S={(0, y) : −1 ≤ y ≤ 1} ∪ {(x,sin(1/x)) : x > 0} is ________________.
Ans A. closed

B. infinite

C. connected

D. ≤

Question ID : 9277593992

Q.2 Which of the following represent triangular inequality?
Ans A. d(x,y)+d(y,z)+d(x,z)>0

B. d(x,y)+d(y,z)<d(x,z)

C. d(x,y)+d(y,z)≥d(x,z)

D. d(x,y)+d(y,z)=d(x,z)

Question ID : 9277593987
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Q.3 Find point wise limit of the series <x/(1+nx)>?
Ans A. 1

B. 0

C. 2

D. 3

Question ID : 9277593981

Q.4 Which of the following intervals are infinite?
Ans A. [a,b)

B. [a,infinity)

C. (a,b)

D. [a,b]

Question ID : 9277593979

Q.5 {x ∈ :( , y)≤ r} defined in metric space is known as ___________ ball.
Ans A. open

B. closed

C. semi-open

D. semi-closed

Question ID : 9277593989

Q.6 For a metric d on a non empty set X, the metric space is represented as
______________.

Ans A. (X,d]

B. [X,d)

C. (X,d)

D. [X,d]

Question ID : 9277593985

Q.7 Let D⊆R ; f:D to R , be sequence of bounded function and series f is Uniformly
continuous to some function g ,then _____________.

Ans A. g is unbounded

B. g is infinite

C. g is finite

D. g is bounded

Question ID : 9277593980
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Q.8 Find the radius of convergence of series 1+x+x²+x³+... ?
Ans A. 3

B. 1

C. 0

D. 2

Question ID : 9277593983

Q.9 Find the cardinality of generating set for dihedral group?
Ans A. 1

B. 2

C. 3

D. 4

Question ID : 9277593997

Q.10 The external direct product of two abelian group is abelian if and only if both are
_____________?

Ans A. non abelian

B. abelian

C. infinite

D. finite

Question ID : 9277593996

Q.11 Consider the following series <n²x/(1+n²x²)> , and check whether the series is
uniformly convergent on [0,1]?

Ans A. it is not uniformly continuous on [0,1]

B. none of the above options hold

C. it is uniformly continuous on [0,1]

D. it is uniformly continuous on (0,1)

Question ID : 9277593982

Q.12 Which property states that ," A⊆X be any subset and every finite sub-collection of A
has non empty intersection?

Ans A. Cantor property

B. heins berg property

C. Finite intersection property

D. weierstrass property

Question ID : 9277593991
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Q.13 Find radius of convergence of 1+x+x²/2!+... ?
Ans A. 5

B. infinite

C. 10

D. 0

Question ID : 9277593984

Q.14 C[a,b] i.e. the set of all continuous function from a to b is a subset of real valued
________________ function?

Ans A. bounded

B. infinite

C. finite

D. discontinuous

Question ID : 9277593986

Q.15 A topological space is _____________ if every point x of X has neighbourhood base
consisting of compact neighbourhoods?

Ans A. locally compact

B. connected

C. compact

D. finite metric

Question ID : 9277593988

Q.16 An automorphism is defined if it is _____________.
Ans A. isomorphism but not one one and onto

B. isomorphism,one one ,onto

C. isomorphism only

D. one one ,onto

Question ID : 9277593993

Q.17 Let G be a multiplicative group defined by T(x)=x²; then T satisfies which of the
following property?

Ans A. all of the three options

B. isomorphism

C. automorphism

D. Homomorphism

Question ID : 9277593994
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Q.18 The usual topological space induced by usual metric is denoted by which of the
following?

Ans A. d(x,y)=|x+y|

B. d(x,y)<0

C. d(x,y)>0

D. d(x,y)=|x-y|

Question ID : 9277593990

Q.19 If f(x)=1/q for any rational number x and 0 otherwise , then find the lower integral?
Ans A. 6

B. 1

C. 2

D. 0

Question ID : 9277593978

Q.20 If U(8)={1,3,5,7} and U(10)={1,3,7,9} ,then find how many element are there in
U(8)×U(10)?

Ans A. 16

B. 4

C. 8

D. 32

Question ID : 9277593995

Q.1 Check about continuity and analyticity of f(z)=cos(z)?
Ans A. continuous but not analytic

B. analytic but not continuous

C. continuous and analytic everywhere

D. neither continuous nor analytic

Question ID : 9277594001

Q.2 If a function f(z) is continuous on a contour C of length l and if M is the upper bound of
f(z) on C ,then ʃf(z)dz≤ ______________?

Ans A. L

B. M

C. Ml

D. M/l

Question ID : 9277594003
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Q.3 If f(z) =u+iv is an analytic function,in domain D ,then the curves u=constant,v=constant
form two _____________ families?

Ans A. orthogonal

B. symmetric

C. parametric

D. diagnol

Question ID : 9277594000

Q.4 Find the residue f(z)=z+1/z+1/z³+... at z=infinity?
Ans A. -1

B. 1

C. 2

D. 0

Question ID : 9277594007

Q.5 Evaluate ʃzdz over C(ab initio)?
Ans A. (b²+a²)/2

B. b+a-2

C. (b²-a²)/2

D. b²+a²

Question ID : 9277594006

Q.6 Which theorem states that," if an entire function is bounded for a values of z,then it is
constant"?

Ans A. Lioville's theorem

B. Fundamental theorem

C. Cauchy theorem

D. morera theorem

Question ID : 9277594005

Q.7 Find the number of subgroups of cyclic group of order 50?
Ans A. 6

B. 8

C. 2

D. 4

Question ID : 9277593999
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Q.8 Let f(z) be single valued analytic function in a simple connected domain D, if a,b are in
D ,then( ʃf(z)dz)over the limits a and b =___________, where F(z) is and indefinite
integral of f(z)?

Ans A. F(a)

B. F(b)-F(a)

C. F(a)-F(b)

D. F(b)

Question ID : 9277594004

Q.9 If the contour is closed and does not intersect itself ,then it is called _______________
curve.

Ans A. ternary

B. open

C. jordan

D. binary

Question ID : 9277594002

Q.10 If a set G with binary operation * satisfies closure property as well as associative
property then it is called _______.

Ans A. monoid

B. semigroup

C. group

D. quasiod

Question ID : 9277593998

Q.1 The individual who has unique traits and characteristics is called ________________.
Ans A. Special individual

B. Disabled individual

C. Exceptional individual

D. Odd individual

Question ID : 9277594017

Q.2 इनमें से कौन हिंदू  धर्म का सहायक विषय (ऑग्ज़िल्यरी डिसिप्लिन) नहीं  है?
Ans A. शिक्षा

B. नक्षत्र

C. व्याकरण

D. ज्योतिष

Question ID : 9277594011
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Q.3 To create an environment of equality, the teacher should not ______________.
Ans A. maintain the body language in such biased manner

B. use gender neutral language

C. ensure discipline in class and avoid any situations, which may insult or disturb the
pupils based on their gender

D. give different opportunities to boy and girls to participate in the class

Question ID : 9277594013

Q.4 कक्षा में बात करना और अनुशासनहीनता ______ का संके त है।
Ans A. अच्छा छात्र नहीं

B. अशिष्ट

C. दोहराव के  कारण बोरियत

D. शरारती व्यवहार

Question ID : 9277594009

Q.5 कौन सा अधिगम शिक्षार्थियों  पर ध्यान कें द्रित करता है, जो कु छ करने के  अपने अनुभव को प्रतिबिंबित
करती है, ताकि वैचारिक अंतर्दृष्टि के  साथ-साथ व्यावहारिक विशेषज्ञता हासिल की जा सके ?

Ans A. सैद्धांतिक अधिगम

B. व्यावहारिक अधिगम

C. प्रायोगिक अधिगम

D. कें द्रित अधिगम

Question ID : 9277594008

Q.6 What is simulation based training?
Ans A. Is the purification of the mind, heart, understanding and actions to obtain a variety of

spiritual goals.
B. Is another method which uses technology to assist in trainee development.

C. Is additional services available online for those who wish to receive

training above and beyond that which is offered by their employers

D. Is method which include how to use a variety of weapons, outdoor survival skills.

Question ID : 9277594015

Q.7 Communicative Lessons are not _______________.
Ans A. Grammatical

B. Contextualised

C. Authentic

D. Learner-Centred 

Question ID : 9277594014
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Q.8 किस वर्ष के  अध्ययन से पता चला है कि, पुरुष और महिलाएं  अपने अन्योन्याश्रयता प्रकार में भिन्न हैं?
Ans A. 1897

B. 1980

C. 1999

D. 1997

Question ID : 9277594012

Q.9 What refers to the set of rules and principles that govern the structuring of a sentence
or a phrase in a language?

Ans A. Discourse

B. Syntax

C. Language function

D. Vocabulary

Question ID : 9277594010

Q.10 अधिगम के  लिए आकलन में होने वाली मुख्य प्रक्रिया कौन सी है?
Ans A. छात्र जो अपने आकलन और मूल्यांकन हेतु शिक्षकों पर निर्भर रहते है।

B. शिक्षक प्रत्येक छात्र को उनके  अधिगम में सुधार करने के  तरीके  के  बारे  में प्रतिक्रिया प्रदान करता है

C. छात्रों से प्रश्न करना कि वे किस स्तर पर हैं।

D. नैदानिक परीक्षा

Question ID : 9277594016


